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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.012 - 0.333 0.035 &
LA i 1.512 0.001 - 0.452 0.093 =
/L4, (HCI) 4,545 0.004 - 0.239 0.142 =
mIbE (HF) 0.306 0.008 - 0.080 0.032 s
— &b (SO2) 15.147 0.209 - 7.760 2.342 =
—4&bi% (CO) 7.578 0.007 - 2.231 0.105 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.554 - 8.166 1.978 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.027 - 0.054 0.035 &
LA 0.756 0.058 - 0.167 0.095 =
#F/bE (HCI) 0.756 0.100 - 0.169 0.141 s
wAbE (HF) 0.072 0.021 - 0.042 0.032 s
— &b (SO2) 3.789 2.156 - 2.566 2.340 =
—&Ei% (CO) 3.789 0.055 - 0.140 0.104 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.848 - 4.227 1.974 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.442 x 1010 &
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.551 0.005 &
LA i 1.512 0.001 - 0.629 0.106 =
Z/LE (HCD 4.545 0.030 - 0.188 0.127 TE
mIbE (HF) 0.306 0.002 - 0.068 0.024 =
— &b (SO2) 15.147 0.048 - 6.538 2.137 =
—4& kbR (CO) 7.578 0.000 - 0.384 0.109 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.225 - 8.261 1.157 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.036 0.005 &
LA 0.756 0.053 - 0.200 0.106 =
/L4, (HCD 0.756 0.108 - 0.149 0.127 =
wAbE (HF) 0.072 0.017 - 0.038 0.024 s
— &b (SO2) 3.789 1.949 - 2.328 2.138 =
—&Ei% (CO) 3.789 0.049 - 0.249 0.108 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.552 - 2.430 1.155 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.375 x 1020 &
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.007 - 0.131 0.011 &
LA i 1.512 0.001 - 0.257 0.064 =
Z/LE (HCD 4.545 0.011-0.124 0.084 TE
mIbE (HF) 0.306 0.000 - 0.047 0.024 s
— &b (SO2) 15.147 0.288 - 2.793 1.808 =
—4& kbR (CO) 7.578 0.004 - 0.226 0.086 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.443 - 4585 0.970 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.008 - 0.029 0.011 &
LA 0.756 0.041 - 0.085 0.065 =
#F/bE (HCI) 0.756 0.049 - 0.109 0.084 s
wAbE (HF) 0.072 0.018 - 0.034 0.024 =
— &b (SO2) 3.789 1.713 - 1.959 1.811 =
—&Ei% (CO) 3.789 0.057 - 0.145 0.087 =
HAY (NOx)
DSBS (NO2) 15.147 0.708 - 1.470 0.980 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.689 x 1010 &
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